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your question: 50 employees. 35 are part-time and 15 are full-time. What percent are full
time?

Any time someone mentions “percent”, we are talking about the part of something or the

share of something.

We calculate this share by calculating a similar share as part of a total of 100.

Let’s go to the question:

In this case the total is 50 employees, and we want to know what 15 full time employees

represent as a share of that total, but expressed as part of 100.
Therefore we can say, where S is the share and P the percent:
S=15/50

S=P/100

If we combine these 2 equations,

P/100 = 15/50

we now multiply both sides of the equation by 100, and we obtain:
P = (15*100)/50

or

P =15*(100/50) = 15 *2

Therefore

P=30

One can say that the percent of full-time employees is 30 percent.

We can now also use the percent-sign, and write 30%.

Now some fun facts :
Percent comes from latin : “per centum”, which means “per hundred”.
Percents are used a lot. Some examples are :

® to express the part of a whole, for instance : costs as part of a sales price, profits
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